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{3: 9 pts) An industrial engineer aims to calculate the probability for the fg
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bottle thickness is normally distributed with a mean o
d, what is the probability that the average thick
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ours. Calculate the ﬁean time to fai

~Ta = 4 defects /sheet. Calculate the 2-sigma upper control limit.
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b: 2) The time-toefailice of a product is Weibull distributed with mean and scale parameters of 600 and 100 hrs,
respectively. What is the probability that the prodyct survives 90 hir? (Answer: --—-
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product is compased aﬁ_t_ree identical and independent‘:—ampnnems which are arranged in a
iguration. Lhe time to failure of each co ]
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ent is exponentially distributed with a mean time to failure of 1000
ilure for the pmduct} [{Answer: -
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control chart is to be established to monitor the number

f

fabric. If the mean defect
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